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NAME DATE

- Unit 2 Test

( Chapters 4-6)

. For Quesﬁons 1-;7, simplify. Assume that no denominator
equals 0.

1. (Tx?2 + 8x —9) — (—x* + 8x — 3)

2. 5x¥(Tx)? ' (2x -~ 8)
4. 2xy.—81ygy++237x — 15 5. W

6. V12 - \/-— 8 + 3\/— 0+ \/_ -
e

8. Use synthetic division to ﬁnd ‘(2x3 52 + Tx — 1) s le—=1).

'9, Write the expression m? in radlcal form.
10. Solve \/3x +6 +4 < 7.

11. Graph flx) = —«? + 4x — 3, labeling the y-intercept, vertex,
and axis of symmetry.

12. The shape of a supporting arch can be modeled by :

 h(x) = —0.03x? + 3x, where h(x) represents the height of the
arch and x represents the horizontal distance from one end
of the base of the arch in meters. Find the maximum height
of the arch.

13. Solve 2x% = 3x + 2 by graphing. If exact roots cannot be
found, state the consecutive integers between which the
. roots are located.

14. Solve x* — 2x = 24 by factoring.
15. Write a quadratic equaﬁon with —~% and 4 as its roots.

Write the equation in the form ax"’ + bx + ¢ = 0, where
a, b, and c are mtegers

16. Find the exact solutions to 62? + x + 4 =0 by usmg the
Quadratlc Formula. ‘

17. Find the value of the discriminant for 9x2 + 1 = 6x. Then
describe the number and type of roots for the equation. -
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18. Identify the vertex axis of symmetry, and direction of opemng

for y = 2(x + 3 —

19. Write y = —4x? + 8x — 1 in vertex form.

20. Graphy > x? - 2x + 1.

21. Find p(-3) 1fp(x) x% + 322

22. Graph f(x) = —(x)‘* + 4x2 — 2x by making a table of values.
Then estimate the x-coordinates at which the relatlve

maxima and relative minima occur.

283, Solve x* + 200 = 102¢2,

24, Use synthetic substitution to find (—3) for .

flx) =243 — 6x2 — Bx 4+ 7.

25. One factor of f(x) = «® + x> — 22x — 40 is x + 4. Find the

other factors.

26. State the number of positive real zérds, negative real zerds,
and imaginary zeros for g{x) = 9x* — 7x® + 10x — 4.

27. List all of the possible rational zeros of
flx) = 828 — Ta® + 2x — 15.

28, If f(x) = 3x and gx) = 4x - 3, ﬁnd flg(5)] and g[A5)1.

29. Find the inverse of f(x) = 7x -'2'.

© 80. Graph y = v/3x + 12.
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